» 0.0
£ : : : : : : :
R
< S
09,008+

Borf
Boong

= E . . . . . . .
S CE Cs S St M o
B00aE
O E : : : : : : :
S e e e s
0 E ? ? ? ? ? ?
0,002
000
05....f....i£*.+i#.*#f#ﬁ#Wﬁfrﬁ....

Ratio

AU U 1 S A1

SR E = T B B SEEEREEE

20 30 40 50 60 70

F'Y

90 100
Pileup

oo

80

—e— DQM”pixelCPETemplate_step2 ttbar-phasel-newgeom
—— DOM pixelCPETemplateCutChiSquareNew_step?2_ttbar-phasel-newgeom
M”pixelCPETemplateCutChiSquareNew?Z_step?Z_ttbar-phasel-newgeom
M~ pixel CPETemplateCutChiSquareNew3 step2_ttbar-phasel-newgeom
N U) U.UIL . . N
: O : : :

—— D
—— D

—a— U§IVI o_riginal SIEPZ_TDar-pndase L-mewgeom

o
~ 9
a o

2.009
©
%.008
£
§§007
%;006
X
©.005
$.004
[&]
$.003
(V)]
0.002

o
~

0.35

0.25

o
[N

0.15

Selected tracks/TrackingParticles
o
w

o
=

0.05 0.001

<0

Ratio
Ratio

] k| B AT e 2
I : 1.5
L 1
SR [ . .-k P bt =




	Contents
	Page 1


